BT6010-V1-Z-PROBX-010310-52

B ®

BETTER @ DESIGN"™

BTe6010
CCTV CGAMERA MOUNT

~

0)
§)
Z

No PART NAME QTY

1 CAROUSEL 2

2 M8 X 10 ALLEN SCREW 2

3 Smm ALLEN KEY 1

INTERFACE KIT

A M4 X 12 CROSS SCREW 4

B M4 WASHER 4

M4 NUT 4

INSTALLATION INSTRUCTIONS

1. Fix the @50mm (2”) pole to the ceiling.

Disassemble the camera ceiling mounting plate from the main body of the camera.

3. Loosely fix the carousel (parts 1) to the camera ceiling mounting plate using the M4 x 12
screws (part A), M4 washers (part B) and M4 nuts (part C). DO NOT TIGHTEN YET.

4. Slide the flanges of the carousel into the bottom of the pole. Fix the carousel to the pole by

screwing the two M8 X 10 screws (part 2) through the pole into the M8 holes in the carousel

plate.

Now go back and tighten the M4 x 12 screws (from step 3) to securely fix the carousel to the

camera ceiling mounting plate.

Assemble the main body of the camera to the camera ceiling mounting plate to complete

the installation.

N

h

& ;

Head Office
B-Tech International Ltd.
Bennett House, Long March, Daventry, Northants NN11 4NR, UK
Tel: +44 (0)1327 300 787 Fax: +44 (0)1327 706 562
Email: info@btechavmounts.co.uk

Asia Pacific
B-Tech International (Hong Kong) Ltd.
1503 Prosperity Milennia Plaza, Quarry Bay, HK
Tel: (+852) 2556 7337 Fax: (+852) 2556 7321
Email: info@btechavmounts.com.hk

North America
B-Tech Audio Video Mounts.
10 Greg Street, #108, Sparks, NV 89431, USA

Europe
B-Tech PRO-AV bvba
Brixtonlaan 32, Zaventem 1930,Brussels, Belgium
Tel: +32 (0)2 720 92 71 Fax: +32 (0)2 725 42 15 Tel: (1)800 975 5812 Fax: (1)800 592 2876
Email: info@btechproav.com Email: info@btechavmounts.com

www.btechavmounts.com

Made in the UK

CoOPYRIGHT 2010. B-TECH INTERNATIONAL, ITS DISTRIBUTORS AND DEALERS ARE NOT RESPONSIBLE FOR DAMAGE OR INJURY CAUSED BY IMPROPER INSTALLATION.



